2
9. |2 de=1(2x-1) +(2x-1)+=In[2x—1|+C
2x—1 4 2

10. -[4“‘:_3 ;£r=i{3x—4]+zln|3x—4|+{3
dx-4 9 9

2
9. |-& ae=2(2043) -2 (26 43)+ x4 +C
2x+3 8 2 4

10. I | 1+c

de=4
A.'J"ixl*'-l ’

3
9, If’;‘ dr=21n‘21‘5+3‘+{?
2x' 43

1
10. I X ae=——2 o3 s
:fl—ﬁxi 15

t 102 B
9. 10x .r,h':ln4 l
NETTY 25

e,
10, -[ Ll dx=£+ﬂln[i}
_52.::—5 2 4 4




-* 2 _
N 9x'  _In4-i
Jy 3x+1 6
(12e-3 3
10. T2 dx=2(1-1n4)
J, 2x43 2
] ge=3(2x-3)-Uinpragec=2 - Umpess+c
J 2x+3 4 4 2 4
i 8-!'2 | 2 - ]
10, T3 dx=—§{|—2x] +2(l—21]-ln||-21|+(, =-2x -'2x—|l‘l||-2.xi+{f
=X

. 1 . .
j‘mijdt=51nx—gsln3x+c Use u=sinx

]
mc".rdx:lanx+§lan3.r+{: Use u =tanx

if-i;_zH: Uscuzﬁ

|
. ;x[x—f-‘r} dx:E]"

L
-

2 1|I' 2 —
6. -[ ad +(}c.{x= x1+9+éln X +9 3'+C Use u=+vx"+9
x 2 W +943
C14+cosx
7. : dx = Injcos x—1|+C Use u=cosx
J sinx
8. —— ax=2x—2+2m(1+4x-2)+C Use u=x—2
J1+4/x=2
9, sec’ xtan x+/1+ tan x M=%{31anx—2}[l+mﬂx}&+c Use u =+/1+tanx
10, L ir:}lﬂm-l-l-c Use uzJ;
JJx(9x-1) Wx+l




1,
1. I o dx=2_1. use x=2sin@
0 ;4—.1:2 2

2
2. | - .:.{r=£[ﬁ—l], use x=2cos@

2
1 X y4—-x

a (]1—12)2

:iJ:Z%{I+2}, use x = tané

2
13.j 16— x° -:.{J:=%(4Jr+6ql'r?_:)._, use x =4sin @
i

2

;«g ., use ;:il,;m&‘
2., 4\2
o (3x7+4)

14. dx = 1
8 3

2
15. | J16-3x2 d.r=ﬂ+1,usex=isinﬂ
0 9 NE)



